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1. Choose the correct answer : 1x8=8
(a) AUA’is

i A
(i) A’
(iii) Q@
(w) ¢
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(2) | ( 3)

(e) Given the AR function AR=10-0-5g,
the MR function is

() logq x () MR=-0-5q>
(i) MR=10-0-5g>
(iii) MR=10-g

dx

(i) log;gexl
X

(i) = |
X (iv) MR=10g -g
(iv) 1 | ; S ‘
X () Rank of the matrix -1 1 0]is
D2 3
© [regdx=» -
a T - (i) .1
it | (i) 2
) [ figax (i) 3
@ Fredas * @ 4
§ - ; s el
| (g) The function f (x]=——-1— is not
x—

(iii) f)’ £ e

continuous at

(iv) [°
Lf (%) dx | () 1
(ii) 2
b 0 Shiati (iii) 3
d -
elerminant | 5 4|, the minor (iv) None of the above
S ) a*dx=7?
o e demen 5 w
i) 0 (i) a*+c
(@) 8 (ii) loga™ +c
(tii) -3 (iii) ax+c
() -6 "
(iv) LRl
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(4) Uil
Sho ) s b
2. Answer any four of the following : 4x4=10 (iij) A function is given by
: 2
(@) Find the numbers a and b that make A -1 —4x+3
the inverse of B, when x% +2x-3
2 —1T a1 1 214 find whether the function is
= - ontinuous at x =1 or not. 4
A ? L bl B=|016 C 2
ik e B2 I
(b) () fA={2 3 4}, B={2, 5, 6}; find
(b) Tlustrate Hawkins-Simon conditions
(AU B)\ (AN B) 3
(c) Draw the graph of xy=1
(d) Derive the elasticity of substitution for (i) Solve the following pair of equations
Cobb-Douglas production function. graphically : 5
(e) Evaluate : x+4y=2
3 6x + 8y =24
lim X" =3x” +2 ; ;
S e S (iii) Define continuity of a function. 3
() Given the nput coefficient matrix 4. (a) () Consider the following macro-
0-05 0.25 .34 : economic model of two countries,
A=10-33 0.10 0.12 i =1, 2, that trade with each other :
019 038 0 Yi_=cl+Al+Xl—Ml’ c1=C1Y1, Ml=m1Y1
Expla.ln the €conom: - Y2 = C2 +A2 +X2 "‘M2, C2 =C2Y2, MQ = m2Y2
third colump sum 1: dmeamng obhthS Here Vi=1, 2; Y; is income, C; is
Sum S the third oW consumption, A; is (exogenous)
3. (o) autonomous expenditure, X;
() Define the following Wit exrsles denotes exports and M; denotes
P 1,<454 imports of country i Find the
Null set - Disics: : equilibrium values of Y, and Y, by
) S :
S€t; Union ogoslzttSSEt giconves matrix algebra. 7
(i) Define limit of 5 g, ti J
1 nction. |
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(6) Uitey)

Or
i) Distinguish between the following : _
i e F S 242= (b) (i) A consumer has a utility function
= u(x) = oxP ;0 1. D
Static and Dynamic input-output u = u(x) Fu_x o0 -<B< : oes
models | the utility function display
Open and Closed input-output diminishing marginal utility? 5
models
‘ oy dy
Or (i) Find out = when
(b) () Verify that the following matrix A is | T
idem t tae = |—
poten Y 1+x 3
A=|-

(iii) The AR function is given by
AR =100 -3g. Find the elasticity of
demand at g =5. 4

o\~ wl~ o]~

W= W wf—
|

|~ = o=

(i) Given the technical coefficient
matrix (4) and the final demand
vector (F), find the consistent level 6. (a) (iJ Find _[ xIn x dx.

S
of sectoral output in a static input- Mo \
output framework - ‘ (ii) Given the MC function
2
G (R B F =200 | find the level of output (Q) at which
0.3°0-5 0.2 210 the AVC will be minimum. 6
| Or
S. (a) Distingyj :
pmdui.;;sh betwefan Cobb-Douglas (b) (i) Given the marginal propensity to
Producﬁoz fu lunction  and  CES import  M'(Y)=0-1 and the
Tk propertiel::tm? State and prove information that M =20 when Y =0,
A4 of CES produCthl’lO l: find the import function M(Y). 4
b il
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(8)

jven
(ii) Define consumer’s surplus. Giv€
the demand function p=36-9

2
. 6 + q/’,
and the supply function p = 4
t
find the consumer’s surplus a2 L5t
equilibrium.

1
7. (@) (i) Let the demand and suppP¥y
functions be

Qq =a—BP+c%, Qs =—y+06P

o B v, 870

Assuming that the rate of change o

price  over time is directly

proportional to the excess demand’
find the time path P(t).

(@) Briefly explain the wuse of

differential equations in economics*

Or

In a market mode]

(b) (i)

Qqt =12-2P,
Qst =4 +2Pt—1
B B <0250, —04)
Find the time path p, and test
Whether the time path is convergent
(W) Write a note op the cobweb model-
* K *
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